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1. If you were to deposit $1000 in a bank that pays 6% nominal interest, compounded continuously, how much would be in the account at the end of three years?

2. Johnson County will build an aqueduct to bring water in from the upper part of the state. It can be built at a reduced size now for $200 million and be enlarged 20 years hence for an additional $250 million. An alternative is to construct the full-sized aqueduct now for $300 million. 

Both alternatives would provide the needed capacity for the 50-year analysis period. Maintenance costs are small and may be ignored. At 6% interest, which alternative should be selected?

